                  SIMPLE INTEREST                                                                  MAX TIME: 
                                                                                                           TOTAL MARKS: 20

1. A Sum is double itself in 15 years, than rate in.

(a) 6% (b) 7% (c) 6 2/3% (d) 8 1/3%

2. A sum in treble itself as rate of 16% the time is.
(a) 12 ½ yr (b) 12 yr (c) 13 1/3 yr (d) None

3. Rs 500 is include has 3 years with rates 6 ½ %,7 ½%and 8% each year, tea amount will be.

(a) 620 (b) 610 (c) 605 (d) 600

4. Find the S.I on Rs 7300 as 5% for 100 days.
(a) 200 (b) 100 (c) 300 (d) 250

5. Find the rate per annum will a sum of Rs 5000 amount Rs 6000 in 4 years?

(a) 5% (b) 6% (c) 7% (d) 4%

6. What sum of money will produce Rs 143 interest in 3¼ years at 2 1/2 % S.I?

(a) 1750 (b) 1760 (c) 1800 (d) 1600

7. What sum will amount is Rs 6600 is 4 years as 8% per annum S.I?

(a) 6000 (b) 5000 (c) 4000 (d) 6200

8. If The S.I on Rs 1200 in 3 years as 5% will be equal to the SI of Rs 600 at 6% in the year.
(a) 2 ½ (b) 4 (c) 5 (d) 3 

9. Find the interest on Rs 400 5 years as 6%

(a) 100 (b) 110 (c) 120 (d) 125

10. A sum of money amounts is Rs850 in 3 years and Rs 925 in 4 tears, than sum is.
(a) 625 (b) 620 (c) 610 (d) 600

11. Rs. 800 amounts to Rs 920 in 3 years as S.I.  If the interest rate in increased by 3%, than amounts will be.

(a) 970 (b) 910 (c) 900 (d) 992

12. If the S.I on Rs 500 for 4 years in Rs 40, then rate %

(a) 3 ½% (b) 2% (c) 2 ½% (d) 3%

13. At what time will the sum of Rs 2000 become Rs 240 as 4% per annum S.I.?

(a) 3 years (b) 2 years (c) 5 years (d) 4 years

14. A sum of money amounts to Rs 1150 in 3 years and Rs 1250 in 5 years as a certain rate 90 p.a. then rate%

(a) 5% (b) 8% (c) 7% (d) 6%

15. Find the sum of money will amount to Rs 1050 in years as 8% per annum S.I. 

(a) Rs 500 (b) Rs 750 (c) Rs 850 (d) None

16. A sum of Rs 9990 is too divided among A, B and C in sum a way that S.I on each part at 6% after 1, 2, 3 years respect renames equal. Than sum of A. is?

(a) Rs 5400 (b) Rs 2700 (c) Rs 1800 (d) Rs 2000

17. The rate percale which equals to the no. of years, will be if S.I on certain sum of money is 9/16th of than sum is?

(a) 7 (b) 7 ½ (c) 8 (d) 8 ½

18. The time in years in which Rs 1600 become Rs 2000 as 5% per annum is?

(a) 5 (b) 4 (c) 6 (d) None
